

OUR SERVICES

- S.I.P. (SYSTEMATIC INVESTMENT PLAN)
- S.I.P. for women
- Simple interest
- Compounding
- Product finance/ reverse finance
- Pocket finance
- I.P.O (INITIAL PUBLIC OFFER) basket
- TOURISM plan
- Portfolio Management services



SYSTEMATIC INVESTMENT PLAN.....



S.I.P. FOR WOMEN....

Month	Sip month	Invested	Profit
5000	12	60,000	1,10,000
5000	15	75,000	1,85,000
5000	18	90,000	2,25,000

- This sip is only for women
- These 3 offers are for 12, 15, and 18 months.
- In this you will get a black card, a premium card of Capital M that can be used for an additional 10,000.

S.I.P. FOR WOMEN....

One time Pay

Capital	70%	Months	Profit
	amount		
	Invest		
60,000	42,000	12	1,00,000
75,000	52,500	15	1,35,000
90,000	63,000	18	1,90,000

- There are limited seats, the booking will be made on a first come first serve basis
- By taking the Black Card of Capital M, you will be our premium member, and we will superbly celebrate your birthday.

FUNDS ON INTEREST

- Here at Capital M we take funds from clients on a monthly fixed interest of 5%.
- The tenure is fixed for I year.
- For example if you invest Rs. 100000 for 1 year you will get monthly fixed interest of rs. 5000.
- We also compound funds for our clients,
- The rate of compounding is around 4% monthly for 1 year
- For example if you invest 100000 Rs. in compounding your funds will grow at 4% compounding monthly for 1 year and at the end of the year you will get the compounded amount.
- In compounding you will not get monthly returns.



PRODUCT FINANCE

CAPITAL M

INTRODUCTION

- Here at Capital M, we finance many different categories of products.
- We finance products like electronics, automobiles, and property.
- For financing electronic products customers have to pay 50% of the amount of the product's MRP, afterward, the company will pay the EMIs of the product and for financing property, the customer needs to pay 30% amount of the property's value.
- The customer needs to pay the down payment for the product and after the completion of the EMIs, the customer will get his investment back.

EXPLANATION OF THE SCHEME BY EXAMPLE....

Example:

If the customer wants to purchase a car whose price is Rs. 8,00,000.

The customer needs to pay 4,00,000Rs. Plus DP(if any), the company will purchase the product on EMI and pay all the EMIs.

After the completion of EMIs, the customer will get his 4,00,000 Rs. Back.

Clint's credit score will be checked before deciding on the capital.

T&C APPLIED

FOR FURTUER DETAILS CONTACT: 9558678338

INTRODUCTION TO POCKET FINANCE

- What is Pocket Finance:
- Pocket finance helps you pursue your bigger financial goals and navigate your day-to-day finances simply and successfully.
- Here at Capital M we are working on a project that will help people invest any small amount that they save on a day-to-day basis by not spending it on any unnecessary things.
- For example if you save 100 rs on petrol every month by traveling in public transport,
 you can invest that 100 rs in our pocket finance project for great returns.

EXPLANATION:

- In our scheme you can invest in two ways, by lump sum or by sip.
- The scheme will run for I year in which you will get 2 times return of your investment.
- For example:
- If you invest 500 rs per month your returns will be like this:
- Invested amount: 500*12= 6000, maturity amount: 6000*2=12000
- Lumpsum invested amount= 50000, maturity amount=100000



IPO BASKET

BY CAPITAL M

SNS ARISTA

306, OPP, PRIME SHOPPERS, VESU

SURAT 395007

INTRODUCTION...



- here at Capital M we have introduced a new project by the name basket IPO.
- ❖ in this scheme the customer has to pay us Rs. 1,50,000 for 1 year for regular IPOs and after that throughout the year, The customer can select one IPO per month per name. We will pay the customer listing gain of day 1 for that particular IPO, in the case of listing loss the amount of loss will be deducted from the initial capital.

❖ FOR EXAMPLE...

Currently, one IPO is open by the name JNK India Ltd the company has an upper price band of Rs.415 and its lot size is 36 shares.

If the share got listed at Rs. 500 we will pay the customer the profit according to the price of day1

Total profit of customer = 85*36 = 3060

In case of loss

If the price band of stock is 415 Rs and the stock is listed at 400 Rs the total loss will be=15*36=540 Rs.

This 540 Rs loss will be deducted from the initial capital of the customer, final capital will be= 150000 - 540 = 149460.



If any customer wants to apply for an SME IPO the customer needs to pay us 475000 Rs. and after that throughout the year, The customer can select one IPO per month per name. We will pay the customer listing gain of day 1 for that particular IPO, in the case of listing loss the amount of loss will be deducted from the initial capital.

for example.....

Currently, one SME IPO is open by the name EMMFORCE AUTOTECH the company has an upper price band of Rs. 98 and its lot size is 1200 shares.

If the share is listed at Rs. 125 we will pay the customer the profit according to the price of day 1

Total profit of customer = 27*1200 = 32400

In case of loss

If the price band of stock is 98 Rs and the stock is listed at 90 Rs the total loss will be=8*1200=9600 Rs.

This 9600 Rs loss will be deducted from the initial capital of the customer, final capital will be 475000 – 9600= 465400



